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PAPER -1

Note : This paper consists of Fifty (50) objective type questions of Two (2) marks each. All
questions are compulsory.
50 Q x 2 M = 100 Marks

1.  Which of the following set of statements best describes the nature and objectives of teaching ?
Indicate your answer by selecting from the code.
(a) Teaching and learning are integrally related.
(b)  There is no difference between teaching and training.
(c) Concern of all teaching is to ensure some kind of transformation in students.
(d) All good teaching is formal in nature.
(e) A teacher is a senior person.
(f)  Teaching is a social act whereas learning is a personal act.
Code :

1) @ @®andd 2 O, QadeE (G) @ @ad@® @ (), () and (@

2. Which of the following learner characteristics is highly related to effectiveness of teaching ?
(1) Prior experience of the learner

(2) Educational status of the parents of the learner
(3)  Peer groups of the learner
(4) Family size from which the learner comes.

3.  In the two sets given below Set - I indicates methods of teaching while Set - II provides the
basic requirements for success/effectiveness. Match the two sets and indicate your answer
by choosing from the code :

Set-1 Set - I1

(Method of teaching) (Basic requirements for success/effectiveness)
(a) Lecturing (i)  Small step presentation with feedback provided
(b)  Discussion in groups (i) Production of large number of ideas
(c) Brainstorming (iii) Content delivery in a lucid language
(d) Programmed Instructional (iv) Use of teaching-aids

procedure

(v) Theme based interaction among participants

Code :

@ (b) () (d)
® @ @ @) G)
() @@ (@) @) ()
®) @ v @ @
@4 (v @ @

v) (i) )
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W-Ua -1

e : U U H US (50) 5 fashedd U9 €1 U U % 9 (2) 3 €1 |l we e €

50 U9 x 2 3k = 100 3k

1. frfafad § @ S oA a=a e ot yaia iR 329 &1 399 & § foeron yeqd i § 2
e feu T e H F 797 IW A gHAT
(a) Toreror ofR erfermm sifafese w9 @ Heiftm €
(b)  Toreror ofR wfereror & sfiwr Ig i T T
() T frero o1 TUHR BE § F YR ok TG0 ! AT H 9 Fa 2|
(d) TFE oT=s1 frero yehfa # Siio=ie 2 g |
(e) Toers weh afts =afaa drm 1
() e ww wrIfSir e ®, St ifm s SAfHm T e T
<<
1) @ OIRE@D 2 ©, e @) @ ©3IEH @ (@) (@ IR
2. Afermedt ot Frefafed § & St fasro feon w5t gumEcaesa § T=id 9 § Fafud €2
(1) ATl 1 Jei-STgwa
(2) el & Afuurast 1 Sk TR
(3) AferTHRAl % Weft TR
(4) URER 1 TR, fSrweR sAfereRdl T 317 T
3. = feu e < an=El § wea - 1 faa fafiar < w6t € sefs agee - 1 gy
AT S ot STHETE < T € | 39 1 9=l i Gferd sifee iR e fou 70 §e o § o1
I I ?f—nz :
T - 1 T - 11
( Toregor fafer) ( TORETAT/ FTATTEehal hi Wel ST )
(2) ~TEA A ()  wigfe wfed oy e 5 Wi
(b) &l H == (i) =S HeA | foerl sl Y&
(c) Ter=muarst gfshan (iii) TT ToT H foeEEq 1 I
(d) efshied SFIeeE =t ugid (iv) ToeTo-SueRteli <t SuEm
(v) SfawfieE § getor-aeid wriert
<< :
@ (b) (9 (d)
1 @ @) @) ()
2) (@) () (@) (V)
3) @) (v) @) ()
(4) (@v) @) @) (i)
eors [[1IIIINAIDNANERHY PLO




4.  From thelist of evaluation procedures given below identify those which will be called ‘formative
evaluation’. Indicate your answer by choosing from the code :

(a) A teacher awards grades to students after having transacted the course work.

(b) During interaction with students in the classroom, the teacher provides corrective
feedback.

(c) The teacher gives marks to students on a unit test.
(d) The teacher clarifies the doubts of students in the class itself.

() The overall performance of a students is reported to parents at every three months
interval.

(f)  The learner’s motivation is raised by the teacher through a question-answer session.
Code :
(1) (@) (b)and () (2) () (and(d) (3) (@) ()and(e) (4) (b) (d)and(H)

5.  Assertion (A) : All teaching should aim at ensuring learning.
Reason (R) : All learning results from teaching.
Choose the correct answer from the following code :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3)  (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

6.  There are two sets given below. Set - I specifies the types of research, while Set - II indicates
their characteristics. Match the two and give your answer by selecting the appropriate code.
Set - 1 Set - II
(Research types) (Characteristics)

(a) Fundamental research (i) Finding out the extent of perceived impact of an
intervention

(b) Applied research (i) Developing an effective explanation through theory
building

(c) Action research (iii) Improving an existing situation through use of
interventions

(d) Evaluative research (iv) Exploring the possibility of a theory for use in various
situations

(v)  Enriching technological resources

Code :

@@ () (o (d
1 @ (@) @) ()
2 (v (v) (@D (i)
@ @O @@ @) @)
(4) @) (@) (@) (v)
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4. = 3 TE oA gihArstl | 9 39! TeaH &itee, et ‘ATt Hedied’ el Sl § | A
QU 7T Fe i1 YA A G 3T IW I AT :
(a) Torereh qreTshd &1 S G HA F IS B TS @ L
(b) Tirere e & SE % Y Fd:foran & <R gaRIeTs wfagfte g €1
(c) Torerh gt adiaror H BT 1 3iek A1 2 |
(d) Torerer sen B € ST % HIEH Il T HIAT R |
() BEN & THY FoIRH & 9 T Yok W9 18 o STl T SAfwraehi &l RAre foha S 1
(f) Torersh Jo9-SR O & AreAy | sAfermehdt st Ifagon | gfg R S

1) @ b)F(E) (2 O, 3INME @) (@), (AR @) (), (d) IR

5. MUY (A): THE eI 1 I AT vl FHREA HEA T AMMECI
e (R) : T STferr fRegor w1 qfom S B
= feT T Fe H 9 WE S A g
(1) (A) TS (R) M W&t €, 3R (R), (A) T T =180 7 |
2) (A)TH (R) SHI 9 ¥, Af (R), (A) T Tl =0 6 2|
(3) (A) H& &, AR (R) Terd B |
(4)  (A) 7TeTd B, wifeh (R) e €|

6. < ug= few u ¥ wgeEa - 1H Wiy % YR fIU MU €, Sefs agees - 1 H e fagand
T 6t T § 1 39 S B GAfAT HIfST 3R ST e 1 TFH A ST W H! ST

T - 1 = - 11
(ITrel & WehT) ( fergtoard )
(a) Hifcieh oMY () T H STIA Y& I TqT TR
(b) FeRd MY (i) Tagia fefo % e @ gaEcaes e & fas™ s
(c) Toromemsr sy (i) TENT % ITAN & HEAH § gaford feafa § gar am
(d) HAFI-IH WY (iv) fafve feafdl § swm & fau fagia 6t gaeed s @rstiia

AT
(v) Tfafys SETEEl ol 995 ST

i) (i) () (V)
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10.

Which of the sets of activities best indicate the cyclic nature of action research strategy ?
(1) Reflect, Observe, Plan, Act
(2) Observe, Act, Reflect, Plan
(3) Act, Plan, Observe, Reflect

(4) Plan, Act, Observe, Reflect

Which of the following sequences of research steps is nearer to scientific method ?

(1) Suggested solution of the problem, Deducing the consequences of the solution, Perceiving
the problem situation, Location of the difficulty and testing the solutions.

(2) Perceiving the problem situation, Locating the actual problem and its definition,
Hypothesizing, Deducing the consequences of the suggested solution and Testing the

hypothesis in action.

(3) Defining a problem, Identifying the causes of the problem, Defining a population,
Drawing a sample, Collecting data and Analysing results.

(4) Identifying the causal factors, Defining the problem, Developing a hypothesis, Selecting
a sample, Collecting data and arriving at generalizations and Conclusions.

The problem of ‘research ethics” is concerned with which aspect of research activities ?
(1) Following the prescribed format of a thesis

(2) Data analysis through qualitative or quantitative techniques

(3) Defining the population of research

(4) Evidence based research reporting

In which of the following activities, potential for nurturing creative and critical thinking is
relatively greater ?

(1) Preparing research summary (2) Presenting a seminar paper

(3) Participation in research conference  (4) Participation in a workshop

eocoss [1NIANORNINNLHT



10.

foRaehaTdl & frfafed Ty== § s Iy== fhars v WG ot Fehtd Thid ol ST

€2

(1) & foad 3, 901 e, s, foranatd
(2) 9&I0 T, TR, e e e, e
(3) Torenfafa, FASH, GaT01 ST, Mo foad &L
(4) TS, fopenfafa, Garor s, e feoad &

2

4

Ty e o1 Tfafed § 9 -9 A S fafy & faeey &2

(1) HES 1 YEATOd FHIEM, T o GROMH! ol TR R, S i fefd ol s1d &,
HfcE FI Tga IR THEM 1 ThE |

(2) TEE & fRufq A1 STA L, aTdfaeh T i Uga iR SHh! IRy, IRehea 1 ],
TEATTad FHTEH o GRmH st f1fHa s oiR aRehea T o1 &l €9 § e |

(3) HHEN ! URWIYG HEAT, T o FHRUN 1 G=H HLH], GHY I IR 71, gfaeed
T, el T HIURY SR YROMH! 1 foweraor T |

(4) HRU-HcTh HehI hl TEDM KT, FGHE bl IR HT, TRehea 1 oM, Ffdest 1 ==,
3TMhSH T GG IR HHTARTO qe Fshst T 9g=mT |

‘vl e’ T TEEE Iy foRATeRadl % foRd T ¥ Hefyd §?
(1) 3" Y&y o F9iRa 9&9 & STIE §

(2) T[UNCH AT HEAH qehiiehi o HILAH 9 SThel oh foveryol o
(3) Ty o T hl IR A 9

(4) HreF-3uia Wy faifén |

2

4

frefafea & @ forg foramrama § gomsia siR awtemcrs e & gdroor i s1fues e € 2
(1) 39 TR hl TIR HAT (2) St H Y O Rl T R
(3) WY oA § vrfier (4)  rivTen § wrferd

eaooss [[INAIONINNALT -



Read the following passage carefully and answer questions from 11 to 15 :

If India has to develop her internal strengths, the nation has to focus on the technological
imperatives, keeping in mind three dynamic dimensions : the people, the overall economy and the
strategic interests. These technological imperatives also take into account a ‘fourth” dimension,
time, an offshoot of modern day dynamism in business, trade, and technology that leads to
continually shifting targets. We believe that technological strengths are especially crucial in dealing
with this fourth dimension underlying continuous change in the aspirations of the people, the
economy in the global context, and the strategic interests. The progress of technology lies at the
heart of human history. Technological strengths are the key to creating more productive employment
in an increasingly competitive market place and to continually upgrade human skills. Without a
pervasive use of technologies, we cannot achieve overall development of our people in the years to
come. The direct linkages of technology to the nation’s strategic strengths are becoming more and
more clear, especially since 1990s. India’s own strength in a number of core areas still puts it in a
position of reasonable strength in geo-political context. Any nation aspiring to become a developed
one needs to have strengths in various strategic technologies and also the ability to continually
upgrade them through its own creative strengths. For people-oriented actions as well, whether for
the creation of large scale productive employment or for ensuring nutritional and health security
for people, or for better living conditions, technology is the only vital input. The absence of greater
technological impetus could lead to lower productivity and wastage of precious natural resources.
Activities with low productivity or low value addition, in the final analysis hurt the poorest most.
The technological imperatives to lift our people to a new life, and to a life they are entitled to is
important. India, aspiring to become a major economic power in terms of trade and increase in
GDP, cannot succeed on the strength of turnkey projects designed and built abroad or only through
large-scale imports of plant machinery, equipment and know how. Even while being alive to the
short-term realities, medium and long-term strategies to develop core technological strengths within
our industry are vital for envisioning a developed India.

11. According to the above passage, which of the following are indicative of the fourth
dimension ?

(a) Aspirations of people (b) Modern day dynamism

(c) Economy in the global context  (d) Strategic interests

Code :
(1) (a), (b) and (c) only (2) (b), (c) and (d) only
(3) (a), (c) and (d) only (4) (a), (b) and (d) only

12. More productive employment demands :
(1) Pervasive use of technology (2) Limiting competitive market place

(3) Geo-political considerations (4) Large industries

eocoss [1NANORRINNLET



Frfeafaa ey &t s ¥ ue 3R Wy HWEAm 11 | 15 9k o SUY S

Ifg IRA I T SFiafer il fomfad <t 8, o STl 9 Tiaviie &) — Siar, Faor
srefereeen SR WM fedi 1 = # W gu URiienld STavaehiviiadesli W &M Hhid & el 3
TN STevaahToiadTd U <) =", TH, W ot &4 Wt § S a9, SATIR U Wit i
3Ty Tiaeiiara § .90 T, IR S RS S5 @edi i 31X STRR &l § | 391 I8 A § fof 59 =
3T & Heol H ST 1 eTrehiensli § FR &1 W uRad, afvees vy # steforaen a1 9mils T amet
fea % aftea o Wrenfirer= wfemat fakd w9 § weayt €1 e sfaem % o # dreifies fomme T &
¥ SR THH SYAM agdt gfawadt ot 9k | Wit wifaEr eifuss Scieer SR YT e qen
T hITTC ol STEAT I TG i e F FEeqUl © | Urefifehal o oTdeh STIUART o o 89 3T arel
T H 310 T 1 FATHOT faehrd Tel X Tehd | <1 ki WHes Sfaal & 91l Yedel S e w9
Y 1990 T o 915 § SRR T Bl o1 W &1 hs o STI&E1 § W WRd &l v 39l
J-Teifas Hed § wehfad wfed =t feafa § wardt €1 e faefaa 3o o9 o steniaft et off To & forg
fafve wmfter drenfifeal § wfe-gva= 21 SR @ &1 g Wil & Wem | 3% FRaX ST
FI @ i gmed off T g1 S-S wEt & ol o TR fovie T W Saeeie s 6
G BT AT ST ht U T e Heielt gReq hAfved wE @ A1 f Sfem AT i s feafaar & -
T gftedl @ drenfirert T Hecyel STd ¥ 1 HrenfieRt W sTansd i 9a i erufefa @ fre wla
STTGeRAl 3T eI UThfden HHTEAl st aaiar ol J1 IR & Gehdl 71 1 'R’ ScaeeRar a1 e
T Jod-Hae ¥ IS fhameheiy siaa: stela e el s Gord i g1 UEE € | BAR Sl bl T
T e deh TEa 3R 98 Siad ¥eH S, 9 ot 9% TR €, 39 9N § SR sevaenoied
Tecqul ¥ 1 MR iR S St § gig i gfic A s o<t snfeds wifed 2 o enepieht wia foew # festeA
i Tl iR ffHa ‘e’ ufEemrstl 6t wfed a1 hae A e, ITH0T IR qhARl JH g W
el &1 B Hhal| 3TeqehTicteh Aeell T &AM od g AR I § HEIH Td Sreehlicih UMl gRl
Ureifirerra wifeal ol faenfaa e faefad wRa &t wed T &l TR w3 & o geaqut §1

11.  SWRI TRV % AR Frefafed § @ o0 99 g w1 i1 e € 2

(a) ST-3THIRIT (b) emyfer wifastierar
(c) Aftas aRbed # srefereeen (d) umMfie fea

e :

(1) %9 (a), (b) 3R (c) (2) e (b), () R (d)
(3) A (a), () 3 (d) (4) %9 (a), (b) R (d)

12. 2Afyer Scaees TR a1 39 & fau eravass ® -
(1) TRt 1 SATTH STTTAR (2) wfdEayicTesh STSIR 1 TRRT ST e
(3) Y-TsHifaew Ha-faar (4) fauma s
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13. Absence of technology would lead to :

(a) Less pollution (b) Wastage of precious natural resources
(c) Low value addition (d) Hurting the poorest most

Code :

(1) (a), (b) and (c) only (2) (b), (c) and (d) only

(3) (a), (b) and (d) only (4) (@), (c) and (d) only

14. The advantage of technological inputs would result in :
(1) Unbridled technological growth (2) Importing plant machinery
(8) Sidelining environmental issues (4) Lifting our people to a life of dignity

15. Envisioning a developed India requires :
(1) Aspiration to become a major economic player
(2) Dependence upon projects designed abroad
(8) Focus on short-term projects
(4) Development of core technological strengths

16. Differentiation between acceptance and non-acceptance of certain stimuli in classroom
communication is the basis of :

(1) selective expectation of performance

(2) selective affiliation to peer groups
(3) selective attention
(4) selective morality

17. Assertion (A) : The initial messages to students in the classroom by a teacher need not be
critical to establish interactions later.

Reason (R) : More control over the communication process means more control over
what the students are learning.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

18. Assertion (A) : To communicate well in the classroom is a natural ability.

Reason (R) : Effective teaching in the classroom demands knowledge of the
communication process.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
3) (A) is true, but (R) is false.

(4)

HIHI“IH\IIHIH

) is false, but (R) is true.
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13.

14.

15.

16.

17.

18.

Trenfirent st rafeafa 9 feger ant yera g ?
(a) A TG (b) HHH Wehfdeh HETEH] i sfelial

() T =i qoa-gada (d) A TS AT HeIY AU TREH
EA\R‘:

(1) e (a), (b) 3 (c) (2) EE (b), (o) R (d)

(3) A (a), (b) 3R (d) (4) HFE (a), (o) 3R (d)

YrENfiTehd STTAl & <Y kT TILOMH BT ¢

(1) A= drenfiena 99fs (2) HIS W A S

(3) TATaRl Haielt R 1 A0 HAT (4) TR AR ! TREATT Se q Tgam

famfga RG =) FHedT1 T THR FH & U ey € :

(1) 9q@ il wfed s 1 STehian

(2) forew H AR =t 78 s X s

(3) EIHITcIoh IRASTIST T &AM hf=d HE

(4) Hhf=eh drenfirnra wifed 1 fawma

FHEINTT T H S IEUh] bl Tlhridr SR TEelienrd & sia faded frgeh omur 82
(1) foareT =i =S eman

(2) Gt Rl kWY SIS Gl

(3) TEATHE M

(4) FIAEE AR

ARwYT (A) :  Torern g1 et ® B I ST U TR FeSll o1 o1 H ofq: foran Tenfya & o

o AUt 2T ST 7 7 |

e (R) : FEOT YihaT W 3T9eTRd Aty fraEn 1 ffeaed Bl gr Aftrm W edansda
e fe=oT €1

HE

(1) TH (R) I WEl €, 3R (R), (A) H T&l = T |

(A)
2) (A) TH (R) S TE €, ARFA (R), (A) T & =0 & T
(3) (A) §E T, Wfehd (R) o < |
(4) (A) 7T €, AfhA (R) T R |

ARTRT (A) 1 el | FHIA ST Y T HLAT Uk Tfaeh &70dl |

e (R) : Hefl § goTEt e o fore, SR Uiha o1 9 STevEE T
xe :

(1)
(2)
(3)
(4)

(A) T (R) S T& €, 31k (R), (A) T TE == B

(A) T (R) ST T&t €, Afeh (R), (A) T T2 =amen & 21
(A) T &, AR (R) Tera § |

(A) TTEd B, WfRA (R) T T
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19.

20.

21.

22.

23.

24.

Assertion (A) : Classroom communication is a transactional process.

Reason (R) : A teacher does not operate under the assumption that students’ responses
are purposive.

Select the correct code for your answer :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

Which of the following set of statements is correct for describing the human communication
process ?

(a) Non-verbal communication can stimulate ideas.

(b) Communication is a learnt ability.

(c) Communication is not a universal panacea.

(d) Communication cannot break-down.

() More communication means more effective learning by students.

(f)  Value of what is learnt through classroom communication is not an issue for students.
Code :

1) @), (© () and (6 ) (b), (), (e) and (f)

(3) (@) (), ) and (d) (4) (@), (), () and

The next term in the series

-1,5,15,29, 2 ..

is:

(1) 36 (2) 47 3) 59 (4) 63

The next term in the series

ABD, DGK, HMS, MTB, SBL, __ 2, ...

is:

(1) ZKU (2) ZCA (B) ZKW (4) KzU

If VARANASI is coded as WCUESGZQ, then the code of KOLKATA will be :
(1) LOQOZEH (2) HLZEOOQ (3) ZELHOQO (4) LQOOFZH

Introducing Rakesh to her husband a women said, “His brothet’s father is the only son of my
grandfather”. The woman is related to Rakesh as :

(1) Aunt (2) Mother (3) Sister (4) Daughter

)
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19. ARUHRYT (A) :  FHENTA AT TH Fhanf-afaeit gfwan 1

& (R) : w15 i feren 39 W=IaT o Sidvid o T R foh B Rt SR HRed Bt
gl
T I o ToTe W e I :

(1) (A) T (R) IH & &, 31 (R), (A) FF T AR T |
(A) T (R) SHi T& ¥, A (R), (A) Tt Tl A& 716

2)
3) (A) W& ¥, Aferd (R) Ted B
(4) (A) e B, AfRA (R) T8 T
20. T FEY Yk % faern & fod frafafed § @ e e aq=ea @@ © 2
(a) TeNfeger TR faami ol & R Hhd ¢ |
(b) —HEHIU TH AT & S |
() TEIYU Ueh GrET FHIEE T ¥ |
(d) TE wied & & o |
(e)  Afereh THw I &1ef B G e guet e 7
(f) T GO F HeAT § WG G F G BHE & (A€ Agequl T 2|
<
1) (@), () () 3R (H @ () (@), (o) ¥ ()
(3) (@), (b), (o) ¥R (d) @) (@) (d) (o) (D)
21. @l
-1,5,15,29, 2
T ST TE&T © :
1) 36 2) 47 3) 59 4) 63
22, @l
ABD, DGK, HMS, MTB, SBL, __?
T ST TE&T © :
(1) ZKU (2) ZCA (3) ZKW (4) KZU

23. AfC VARANASI &1 2 WCUESGZQ T, @t KOLKATA &1 e BT :
(1) LOQOZEH (2) HLZEOOQ (3) ZELHOQO (4) LQOOFZH

24. TS AfeA A 3T Ufd | Tohs ol UR=E HId L HE, ' 5Hh 98 & AT NI F shad (AR 1 I8
Tl TR HT FAT T € 2

(1) = (2) (3) oA (4) W

1)
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25.

26.

27.

28.

29.

Two numbers are in the ratio 2 : 5. If 16 is added to both the numbers, their ratio becomes
1: 2. The numbers are :

(1) 16, 40 (2) 20, 50 (3) 28,70 (4) 32,80

Superiority of intellect depends upon its power of concentration on one theme in the same
way as a concave mirror collects all the rays that strike upon it into one point.

What type of reasoning is entailed in the above statement ?
(1) Mathematical (2) Psychological (3) Analogical (4) Deductive

Given below are two premises (A and B). Four conclusions are drawn from them. Select the
code that states validly drawn conclusion(s) (taking the premises individually or jointly).

Premises :

(A) Most of the dancers are physically fit.

(B) Most of the singers are dancers.

Conclusions :

(a) Most of the singers are physically fit.

(b)  Most of the dancers are singers.

(c)  Most of the physically fit persons are dancers.

(d) Most of the physically fit persons are singers.

Code :

(1) @and() (2 (and(© () ©@and(@d (@) (d)and ()

Which one among the following is a presupposition in inductive reasoning ?
(1) Law of identity (2)  Unchangeability in nature
(3) Harmony in nature (4)  Uniformity of nature

If the proposition ‘domestic animals are hardly ferocious’ is taken to be false, which of the
following proposition/propositions can be claimed to be certainly true ? Select the correct
code :

Propositions :

(a) All domestic animals are ferocious.

(b) Most of the domestic animals are ferocious.

(c) No domestic animal is ferocious.

(d) Some domestic animals are non-ferocious.

Code :

(1) @and(® () (@ only () ©@and(@ 4 (b)only

eoooss | NIRRT~ =«



25. 'qfrl:l"@mﬁwaﬁcrmzzs% Ife <Al Temstt | 16 el S o1 ST T4 1: 22 S 8 1 3 Ge&md
:%1) 16, 40 2) 20,50 3) 28,70 (4) 32,80
26. Y1 Al fRHt Tk fIwg o IR H SHhT Thral wfed W SH JhR 49 et § 579 YR shiehd
TdU1 39 W v arelt gt fRll e faeg W Hufea s
ST FeH | foRd YRR o e fafgd § 2
(1) TR (2) AR (3) WIgEARHS (4) TS
27. = STHR A (A 3R B) few e 1 37 =R frshel faptel U E 1 39 % 1 wEA i, S Ay
w9 # foifia e o1 goifar ® (STER arerll o1 SAfaaTd IR Sg% §9 9 o) |
ST a1 ¢
(A)  sAfehien T W €9 § five ¥
(B)  Afrhist Mok Wcleh ¥ |
forend
(a) sTferesier T W &9 & fire ¥
(b) AR Tk MIF T
(c) sTferepier ARIR &9 | fhe =afad e ¥
(d) eiftrerie wRIfR &9 9 ffe =afa e €1
?&1_)6' (a) 3 (b) 2 (b)) 3 () (3) (o) 3 (Q) 4 (@ 3R (a)
28. frefafed # @ s smATTS q% H qd-whiead § 2
(1) G 1w (2) W H erafed-rr
(3) wHfa d wHwE (4) TPl H TS
29. ‘UTer] UY HH GOR B &, AfE 39 yia=ia i st 7 o S €, df freafatea § 9 e smer
e/ SR 1Rl ot Y= 9 | §cd 7 1 Qe fordl ST 9kl © 2 W& e 1 =97 ST ¢
ST a1
(a) Tt TR IY WER B ¥
(b) AR ATeTq T @ER Bd |
() I oft ITeTq U] WER L Bl 7 |
(d) T U] 9 GER T & € |
?&1_)6. (a) 3T (b) (2) 99 (a) (3) (o) 3 () (4) A (b)
sl DTN | — PO




30. Which one of the following statements is not correct in the context of Venn diagram method ?
(1) Itis a method of testing the validity of arguments.
(2) It represents both the premises of a syllogism in one diagram.

(8) It requires two overlapping circles for the two premises of a standard-form categorical
syllogism.

(4) It can be used to represent classes as well as propositions.

The table below embodies data on the production, exports and per capita consumption of rice
in country P for the five years from 2012 to 2016. Answer questions 31 - 35 based on the data
contained in the table.

Year-wise Production, Exports and Per Capita Consumption of Rice

Year Production Exports Per Capita Consumption
(in million kg) (in million kg) (in kg)

2012 186.5 114 36.25

2013 202 114 35.2

2014 238 130 38.7

2015 221 116 40.5

2016 215 88 42

Where, Per Capita Consumption= (Consumption in million kg)+ (Population in million)
and consumption (in million kg)=Production — Exports.

31. The percentage increase in the consumption of rice over the previous year was the highest in
which year ?

1) 2013 2) 2014 (3) 2015 (4) 2016

32. What is the population of the country in the year 2014 (in million) ?
(1) 2.64 (2 272 3 2.79 (4) 2.85

33. The ratio of exports to consumption in the given period was the highest in the year :
(1) 2012 (2) 2013 (3) 2014 (4) 2015

34. In which year, the population of country was the highest ?
(1) 2013 (2) 2014 (3) 2015 (4) 2016

35. What is the average consumption of rice (in million kg) over the years 2012-2016 ?
104 (2) 1021 (3) 108 (4) 100.1

)
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30. Tr=fafad § 9 e wuH oF fo fafy & ded ¥ we =@t ¢ 2
) B e i AUl <k TIET0 H Teh oty 7

(1
2) % U fod H =g et o ST SR ARl Rl R et ¢
3

) 3HH U = a9 o T 9 o QSR Al oh ford TRER AT QI gl i ATkl

AT

(4) ST S ok STATA SR A1 hl YSRGS o foTq STAN fohan ST Eehat 2 |

frerifera arferert ® ferdt Qo1 P & fow ui=r asf 2012 | 2016 Ak =mae & SareH, Faia ik ufq
e STUNT & X | 3RS AR &1 TH AT(eIehT ¥ {dU T ARSI oh MR WX W9 WE&AT 31 - 35

o A Gy |
T 1 FY-aR Ieared, T IR ufa safad susdm
- I ERIG] gfa =Afa TR

(thferem framm ) | (Taferem framm #) (feretmm #)

2012 186.5 114 36.25

2013 202 114 35.2

2014 238 130 38.7

2015 221 116 40.5

2016 215 88 42

S, wfd =afd Sudim=(sudm fafeem feeimm ®) « (SAgen fafeaas ®) R su«m

(Tafe=m fremum &) =SaeT— i, § :

31. frg v # fasa ad 1 gorm § =Ea & € H Faitys gfawrd ol 9 g8 ?

1) 2013

2) 2014

3) 2015

32. 99 2014 H I kil SHEE (fAfaaa #) fora o ?

(1) 2.64

Q) 2.72

3) 2.79

33. form o =t safy # frafa oIk 3usi &1 o1gura Haffee o ?

(1) 2012

2) 2013

34. W ki SHEE fohg o9 H Taifeer off ?

1) 2013

2) 2014

(3) 2014

3) 2015

4) 2016
(4) 2.85
(4) 2015
4) 2016

35. o9 2012-2016 ! 37afY H =add 1 9d 3udm (fafeem fram) fram 22

(1) 104

)
eanoss [ HMNRCN AR

2) 102.1

3) 108
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(4) 100.1
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36.
37.

38.

39.

40.

1)
P-00018 H|H|“||“||H

Which of the following statements, regarding the term ICT is/are TRUE ?
P: ICT is an acronym that stands for Indian Classical Technology.

Q: Converging technologies that exemplify ICT include the merging of audio-visual,
telephone and computer networks through a common cabling system.

(1) Ponly (2) Qonly 3) Pand Q (4) Neither P nor Q

A new Laptop has been produced that weighs less, is smaller and uses less power than
previous Laptop models.

Which of the following technologies has been used to accomplish this ?
(1) Universal Serial Bus Mouse (2) Faster Random Access Memory
(3)  Blu Ray Drive (4) Solid State Hard Drive

Given the following email fields, which of the email addresses will ‘swami” be able to see
when he receives the message ?

To... ram@test.com

Cc... raj@test.com; ravi@test.com

Bcc... | swami@test.com; rama@test.com

(1) ram@test.com

(2) ram@test.com; raj@test.com; ravi@test.com

(3) ram@test.com; rama@test.com

(4) ram@test.com; rama@test.com; raj@test.com; ravi@test.com

Put the following units of storage into the correct order, starting with the smallest unit first
and going down to the largest unit :

(a) Kilobyte (b) Byte () Megabyte
(d) Terabyte (e) Gigabyte (f) Bit

Give your answer from the following code :

1) @, (k) @), (c) () () 2 (® (b) @), (d) (e) (9
®)  ®, ®) @) (©, () (d @) ®, ®) @) (d) (©) (e

With regard to computer memory, which of the following statement(s) is/are TRUE ?
P: Read Only Memory (ROM) is “volatile’ memory.
Q: Random Access Memory (RAM) is ‘volatile” memory.
R: Secondary Memory is ‘volatile” memory.
P only (2) Qonly (3) PandQonly (4) P andR only

LT




36. RGN, v Ug & 9N H fFrAfafEd § 9 omd/ ard wuT wE §/% 2
P: T3 Yemerdt AW T, e qu W e Faiiea St €|
Q: M. F imia o ufkomdt yraftrert wfifera ¥ fome sfarfa goa-gwa, R iR Frgex
(HTUR) edeh Teh §1e HHM halfail Julelt gR1 Haitsd fert d 2 |
(1) aa P 2) FaA Q (3) P3RQ (4) TAPIARTEQ

37. & ¢ WYerq o1 o foman wan &, forent IR w9 € R it o1 € den o1 yded! Aiged i
qT | 1 ferTell <Rl ST 8iT § |
T oA § Trefafaa & 9 fora deifien) s SqanT feen T 82
(1) Ifeda Siaa a9 7se (2) TR W Y HAR
(3) TAIZEA 4) wfere 2= e TEa

38. TrfafEd s8a wieed | § ‘&’ &1 T fHe W 9% M ¥ S8 Idl ol S Hohtll 2

To... |{W@IEHM
Ce... | W@z FW; FAQI=.FH
Bee... | @M@ &; THI@TE. ST

)  TH@ITE.HH

) TH@TE. M, TSN@IER.HiH; W@ i
)

)

TH@TE. &hiH; THI@TE. T

THE@TE. ShiH; THI@TE. HH; TS@TL. HH; Yd@T=. Hhid

39. YeRU &I fr=fafad seEal &l ¥e e H @y, 99 9ga TEad $hE § TRFY I gU SEaH
THTE ! 3N =eld WK
(a) fopeiiamee (b) @M (c) ez
(d) TETEe (e) TTETEE 6 fae

1) (®), (), @), (), (d), (e) (2)  (®), (b), (@), (d), (), (c)
3 () (b) (@) (©) (e) (d) @) (®, ®) @), (d) (©) (e

40. FHE HER & o H FrAfated § § A6/ SAY HU 96 8/3 2
P: e e FER (ROM) ‘afcied’ HHk 1
Q: Teu T HHR (RAM) ‘dfciersd’ HH ¥
R: kel 9URT ‘afciersd’ TR T
1) ad P (2) HIA Q (3) FEAPIARQ (4) HaA PIFRR

1)
eaooss [[NMIANIRORT -



41.

42,

43.

44.

45.

46.

‘Fly ash” produced in thermal power plants is an ecofriendly resource for use in :

(a) agriculture as micro-nutrient

(b) wasteland development

(c) dam and water holding structures

(d) brick industry

Choose the correct answer from the code given below :

(1) (a), (b) and (d) only (2) (b), (c) and (d) only
(3) (@), (©) and (d) only (4) (@), (), (¢) and (d)

Which of the following types of natural disasters has no definite beginning and end ?
(1) Earthquakes (2) Landslides (3) Hurricanes (4) Droughts

Assertion (A) : Indoor air pollution is a serious health hazard.

Reason (R) : The dispersal of air pollutants is rather limited in indoor environment.
Choose the correct answer from the code given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true and (R) is false.

(4) Both (A) and (R) are false.

In terms of their contribution to the total power generation in India, identify the correct
sequence of energy sources - Thermal Power Plants (TPP), Large Hydropower Projects (LHP),
Nuclear Energy (NE) and Renewable Energy (RE) which includes solar energy, wind energy,
biomass and small hydropower projects.

(1) TPP>RE>LHP>NE (2) TPP>LHP>RE >NE
(3) LHP>TPP>RE>NE (4) LHP>TPP>NE>RE

Which of the following is considered as major source of pollution in rivers of India ?
(1) Unregulated small scale industry (2) Untreated sewage
(3) Agricultural run-off (4) Thermal power plants

India has the largest Higher Education System in the World after :
(a) The United States of America (b) Australia

(c) China (d) United Kingdom (U.K.)
Select the correct answer from the code given below :

(1) (@), b), (@) and (d) (2) (@), (b) and (c) only
(3) (a), (c) and (d) only (4) (a) and (c) only

eocos [ {HNIANONNIEND =



41. < faga ga= o Searfed ‘ woE 9’ Uk qatarRr-fadst wanem €, foroent fhas Suein foman i § 2
(a) &9 UH o ®IH HUH

(b) SR gfF & faeem |
() oY IR S ¥R Heaed §
(d) SesEmH
1= feu T e ¥ 9 W@ W G
(1) %94 (a), (b) 3 (d) (2) e (b), (c) 3 (d)
(3) A (a), (c) 3R (d) 4) (), (), () 3 (d)
42. e fauemsti & fefaftaa yori § 4 frgen ffvaa wey o) ofq 7= g €2
(1) F (2) EEeH (@) WA FF) @) T
43. SIRIA (A):  31q: AY ISV WEA F fow T TR T ¥
& (R) : 3{q: TaiaRe H 91g YUl i fagsi Teshd Hifid g ¥
9 feu T e H ¥ W& S g

(1) (A) W& (R) SHi T&l € 3R (R), (A) F F& =AM 7

2) (A) T (R) SHl T €, AT (R), (A) F T A= T T
(3) (A) & ¥ i (R) TTerd B

(4)  (A) 3 (R) Al TTord €

44. 9RA H o ToRd IAGA H 37k AT o YRUEA | o1l ©ildl o Hal 3hH ohl Tga hifeC : arq fagd
97 (TPP), faenel s/ faga afEismmd (LHP), TA] St (NE) 3R el e (RE), 5o I9r)
Stt, aTg St St W 3R oty Wi foga ufkesnd aftmferd €1
(1) TPP>RE>LHP>NE (2) TPP>LHP>RE >NE
(3) LHP > TPP > RE > NE (4) LHP > TPP > NE > RE

45. 9RA =t Afcdl # frefafed § 9 forgen! ygu 1 9@ Eia 71 S © 2

(1) stfafafia oy wda sam (2) sTNfya enfeaa
(3) FfuamwE (4) 9 feregm wos
46. foava # wra i fasmeran =0 e gonedt fora <9 & o€ STt § 2
(a) I T TR (b)  sTeferan
() =+ d) TAEeE fdren (FF.)
= fau T e F W W F A
(1) (@), (), (0) 3 (d) (2) A (), (b) 3 (o)
(3) e (a), (o) 3R (d) (4) o (a) 3 ()
SR I —




47.

48.

49.

50.

Prime Minister Research Fellowship is for students pursuing Ph.D programme in :

(1)
(2)
®)
4)

State and Central Universities

Central Universities, IISc, IITs, NITs, IISERs and IIITs

IISc, 1ITs, NITs, IISERs, IIITs, State and Central Universities
IITs and IISc

Leader of the Opposition is a member of committees which select :

(@)
(b)
(©)
(d)

the Central Information Commissioner
the Central Vigilance Commissioner
the Chairperson of National Human Rights Commission

the Chairperson of National Commission for Women

Select the correct answer from the code given below :

(1)
®)

(@), (b), (c) and (d) (2) (a), (b) and (c) only
(@), (c) and (d) only (4) (a), (b) and (d) only

Which of the following statements are correct about gender budgeting ?

(@)
(b)
(©)
(d)

It is a separate budget addressing the specific needs of women.
It assesses the impact of government budget on women.
It is an accounting exercise.

It is another budgeting innovation.

Select the correct answer from the code given below :

(1)
®)

Which of the following are the barriers to citizen-centric administration in India ?

(a)
(b)
(©)
(d)

(b) and (d) only (2) (a) and (d) only
(@), (c) and (d) only (4) (b), (c) and (d) only

Wooden and inflexible attitude of the civil servants
Ineffective implementation of laws and rules
Awareness of rights and duties of citizens

Lack of job opportunities for the youth

Select the correct answer from the code given below :

(1)
®)

(@), (b), (c) and (d) (2) (a), (b) and (c) only
(@), (b) and (d) only (4) (a) and (b) only
-00o0-
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47.

48.

49.

50.

T T 3 Sy frefafaa § 3 fead 9. ue. 2 S 19 9l 3 6 6l § 2

1) TF IR Fx favaformea

2) w=ra fovafgeme™, .o e ., o1 o7 .31, THA.eTE. 3T, oM. o1 . Ta.3.3TR. 3R
3TTE. 3778, 3118, 21,

(3) STE.SME.TH.TL., oTE.3ME.21., TH.3ME. 3, oML, SR UH.E.31R, 31E.3ME. .3, T7 iR =i
[EECIERIGE]

(4) STE.AE.A. AR 3.1, va.Hh.

fager =1 a1 37 Afafaal 1 T 9= Bl §, S 99T hdl ©

(a) T I SR

(b) HT Fdhdl I HT

(c) U A SATUHR AT & TeA8 Hl

(d) U HAfgeT SR % ALY H

= fau T e F W W F A

(1) (), (b), (c) ¥R (d) (2) A (a), (b) 3R (0)
(3) A (a), (c) ¥R (d) (4) & (a), (b) 3 (d)

SR Iifen % aR | frEfafad # @ S wed wE w2

(a) 9% T T 9o &, foro afeensii =t fafire stavasdei R = feon S #
(b) SHH AfEENsll T TRER & dSIC o Y& Fl Jodiohd (hal ST & |

() IE T wErary & ¥

(d) ¥E T 3R Feifen-Farae ¥

% fau U e H T WE IR F A -
(1) ke (b) AR (d) (2) e (a) AR (d)
(3) A (a), (c) 3 (d) (4) A (b), (o) R (d)

IR o ATRe-hfgd Temea # frefafad o @ i snemd € 2
(a) TREHR FHWR o T& SR T AP

(b) A SR T F STuE wrEeE

(c) NIRRT < STfUhR TR hefeal o aN H TRl

(d) Farsdi & fau el o STEERl 1 A9

=1 U 77T e § 9 WE I F AT

(1) (@), (b), (c) ¥R (d) (2) e (a), (b) 3R ()

(3) e (a), (b) ¥R (d) (4) e (a) R (b)
00o0
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